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I nmwn:avpaa
a  If: he slaughters the mother and finds inside:
i a”dead” embryo: either non-full-term (dead or alive) or full-term (dead)
1 then: he must tear it out and remove the 07 (which is 170Y, in spite of 25n being permitted)
it a “live” embryo: full-term
1  then: may be eaten
(a) »77: requires NN and is included in restriction of 12 NXY MR (slaughtering on same day as mother)
(b) o7pom mother’s NNV is 1noN the embryo (NP2 12)
(c) 1w pypw ’7.in such a case, even years later, may be eaten without nomnw
b If: he tore the mother open and found a ’n "Ywn 12 — must be slaughtered
i Reason: mother wasn’t slaughtered
II  wywin’’s ruling — as reported by 21yHxr "
a  Versionl: dispute nnan/n™ (about 'n nywn 11) only about nvmw
i Excluding: fats and blood (both MR according to all)
1  Question: which fats? — cannot be fats of 12
(a) Background: nmn "1/n™ disagree about fats of 1219, per Xn»71 ahead (in re: NWIN T3, NI’ "3 permits)
(b) And: ®ywin "1 (quoted by 8™) explains that dispute is about "0 13, each following his no>»w
2 Rather: must be about fats of 1n itself
(a) Challenge: that is also a dispute »1/n" (whether fats of 13 have to be chiseled out)
b  Version2: dispute only about eating, but they agree it is a viable animal for nya1n »o® and nwn
I 9"awa/" dispute about extension of »*1/n™ to 07
a 57wy nmiv " also permits blood of 121y; n”1 extends ban from fats to blood
b »” even i 1 agrees that blood is forbidden
i Proof: our mwn — T NR RN WNP
ii  Defense (r*): 9"av1 didn’t maintain that "> "y would permit blood, just that there is no n1 for eating it
1 Challenge: we are addressing N *'s position, but he holds that even m¥nnn o7 is 72 — this should be no less
(a) Answer (901 73): "1 1 holds "07 927, myxnnn 07 is only nA3 if its “full blood” is also n12
IV Questions about nypa 12
a  71on 19 1179 (v2): 0”1 would certainly allow; do 1127 allow?
i lemmal: since it requires no YNV, as if it is already VINY
ii  lemma?2: since in reality it is running around, it may be used
1 x701r 92 may not be used
2 »wN ‘1. may be used
(a) arqument (»wx “7): only reason not to use is comparing vv. 1-2 (nw::nv), if so, require male, 00N & yearling
(b) defense: n1an n7an (v. 2) expands possilibities of 1772 to include any nw
(i) challenge (»wx "): if so, any nw should be valid (even ny1pa 12)
(if) answer: purpose of NW::nNWV is to limit and exclude nypa 1a
b reckoning nxmv. if mother is slaughtered and meat becomes &nv, is 7121y a MWK (same as mother) or Nw?
i jpnr 77 separate bodies, reckon nwry > v
ii ~ 57aw7 all one body — all considered nwxa
1 challenge (57aw7to »77): our mwn — the 12 is either %221 Yan or NLINY NA™MYL YIn
(a) explanation: only if it is 1 body could it be nrnVY TWNN
(b) defense: the nonw is Pwan (without liquid) per v
2 challenge (»77to 5”2w7): ruling that if a n»1pa 12 (mother slaughtered) went through river, 7wmn
(a) implication: without water, no nRmYY MWIN
(b) explanation: if it is separate body, requires 7wan; but if 1 body, should be 7w via mother’s nomw
(c) defense: could have been a ‘dry nvonw’, per w™7 13127 (NV'NY alone isn’t 17wan)
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iii note: in Xna (re: passing through river), ruling that it is Xnvn if it then goes into mAapn n’a
1 Question: who could author such a ruling — that while alive, it is Xnvn?
2 Answer (1112 77): 3", (per R"2v1) who allows for 9218 nkmY on the nyipa 12
(a) But: mman dissent — if it is alive, no R"mv
3 Note: 7 is consistent, as he maintains that 3”n»7::w"2 in this:
(a) w7z against y"n n"a — fish are nkmMY Yapn from the time they are trapped
(i) Note: n"a — from when they die; y"1 — from when they can no longer live
1. Difference: between n"a and ™ —if the fish is flopping — not yet dead but can no longer survive
iv  Tangential question (X701 “7): is a fish considered nanv (if it has namv-indicators)?
1 Could be asked: whether or not we hold n’n nav or not
(a) Ewven if: we hold m'n na»v, that may only hold for mnna, that have “more life”
(b) Or even if: we hold mn nrr nNa7v, that may only hold for animals which require nonw —1p’n
v Tangential question: if a nnna miscarries, what is the status of its a59n?
1 panp 77 as nnna avn - liability of nA3 for ingesting
2 57awT as nnna avn —only a NY2), but no n2
(a) Analysis1:»™ — coming out into the world defines as nnn3a; 91 — needs to come to full-term to define
(b) Analysis2: all agree that if it didn’t come to full term, no liability for a5n
(i) Rather: disagreement about case where he put his hand in and took 15n from a living full-term 22w
(if) »”r coming to term is sufficient to define as nnna 25n
(iii) 572w7. term and coming out of the womb are necessary conditions for 25n Moo
(c) Challenge (»): verse (interpreted in 31n) that excludes a5n (+) of 921y from being offered with owx
(i) Explanation: ™ 's approach explains why there is a verse needed to exclude
(ii) But: to 9"av1, no verse should be needed
1. Defense: that is 9"2v1’s source!
(d) Alternate version of challenge (57a¥7): verse needed to exclude 95w 2%9n
(i) Explanation: to >, should be able to be brought
(ii) Answer: as per Jnt 70NN (wasn't yet born)

V  Dispute X11/nR 1 if one slaughters a N80 and finds a full-term 921 alive

a

b

mx '1: According to n”r. who usually requires no'nw for n»1pa 13, here requires none

i According to onam who require no nvnw for N»pa 12 — do not permit this one to be eaten without its own no'nw
~27 even D'ndn would permit

i Reason: the " obligated to cut any 2 n’1mo of the four available — which was done

VI ®7on "v’s curious ruling: if he slaughters a 970 and finds a full-term 92y alive, requires nvY'NW and NN NanNn

a
b

C

d

Bot: if it dies, no nYa11 nrkMv

Challenge (827): 1st two rulings follow 1", final one follows 1119

Defense (n79): ®n "1 had similar ruling —

i Block: n™’s case was where it was found to be dead in the womb (“already dead”)
Defense (1177): the nmin permitted 4 010 (as above)

i Note: 1" supported this read, citing 130y "3 — but unclear if 9”291 agreed or not

VII Analysis of end of mwn — 1w pynw ’7’s opinion

a

Question: where do oman and v"w1 differ?
i Answer: if it immediately stood up — 1327 require (0"1n) VNV
»wwp 1. if we consider the father’s seed, a ny1pa-1a who mates with a regular animal — the offspring has no nipn
»an: all agree that a V19 is permitted — since it is odd, people remember that and won’t infer from it to regular animal
i Alternatively: »ar -if it is a NP 12 VIYP — since it has a “double-oddity”, people surely take note of that
Final ruling (x¥222n *9): follows w1 — and he permitted the offspring for unlimited generations
i Dissent: 130y *1 permits the animal itself, not its offspring
ii ~ Story: a nypo 12 was made a n97V; *WR "1 ordered it to be slaughtered to save it from n%»a)
1 Challenge: we ruled in accordance with w"w1 — even 11nv "7 agreed that the nypa 1 itself is 1mn
2 Answer (?wx 7): 31NV 1 was just defining v"97; he didn’t accept that ruling at all
(a) Challenge: ®y3n "1 ruled that we always follow w"w1 whenever his opinion is mentioned in nwn
(b) Answer: alternate tradition from jm(») "1 — we only follow w"¥1 in two cases:
(i) 9101 extending rights to write V3 on behalf of someone who was very sick
(if) an7 5w WY N1 that fell in to its source — we may ask parn oy and trust him (that he separated
n"7n) even on weekday
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